

MODEL ANSWERS

Q.No.	Answers	Q.No.	Answers
1(a)	Square matrix: - It is a matrix with equal number of Rows and Columns Example: $\begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix}$ OR Given $A = \begin{bmatrix} 4 & 5 \\ 3 & 2 \end{bmatrix}, B = \begin{bmatrix} 3 & 4 \\ 2 & 1 \end{bmatrix}$ $3A-2B=3\begin{bmatrix} 4 & 5 \\ 3 & 2 \end{bmatrix}-2\begin{bmatrix} 3 & 4 \\ 2 & 1 \end{bmatrix}$ $=\begin{bmatrix} 12 & 15 \\ 9 & 6 \end{bmatrix}-\begin{bmatrix} 6 & 8 \\ 4 & 2 \end{bmatrix}$ $=\begin{bmatrix} 6 & 7 \\ 5 & 4 \end{bmatrix}$	1(b)	$(1-\lambda)(3-\lambda)-8=0$ $\lambda^2-4\lambda-5=0$ $\lambda^2-5\lambda+\lambda-5=0$ $\lambda(\lambda-5)+1(\lambda-5)=0$ $\lambda=5 \text{ \& } \lambda=-1$
		1(c)	$x+y=1 \text{ \& } 2x+y=2$ $\Delta=\begin{vmatrix} 1 & 1 \\ 2 & 1 \end{vmatrix}=1-2=-1$ $\Delta_x=\begin{vmatrix} 1 & 1 \\ 2 & 1 \end{vmatrix}=-1$ $\Delta_y=\begin{vmatrix} 1 & 1 \\ 2 & 2 \end{vmatrix}=2-2=0$ $x=\frac{\Delta_x}{\Delta}=\frac{-1}{-1}=1 \text{ \& } y=\frac{\Delta_y}{\Delta}=\frac{0}{-1}=0$
1(b)	Given $A=\begin{bmatrix} 3 & 2 \\ 1 & 2 \end{bmatrix}$ then $\det A=\begin{vmatrix} 3 & 2 \\ 1 & 2 \end{vmatrix}=6-2=4$ $\text{adj} A=\begin{bmatrix} 2 & -2 \\ -1 & 3 \end{bmatrix}$ $A^{-1}=\frac{\text{adj} A}{\det A}=\frac{1}{4}\begin{bmatrix} 2 & -2 \\ -1 & 3 \end{bmatrix}$ OR $A=\begin{bmatrix} 1 & 2 \\ 4 & 3 \end{bmatrix}$ Characteristic equation is $ A-\lambda I =0$ $\begin{vmatrix} 1-\lambda & 2 \\ 4 & 3-\lambda \end{vmatrix}=0$ $\begin{vmatrix} 1-\lambda & 2 \\ 4 & 3-\lambda \end{vmatrix}=0$	1(c)	OR $J=\begin{pmatrix} 45 & 30 \\ 35 & 25 \\ 20 & 18 \end{pmatrix}, F=\begin{pmatrix} 42 & 28 \\ 36 & 20 \\ 22 & 16 \end{pmatrix}$ $D=\begin{pmatrix} 3 \\ 1 \\ 2 \end{pmatrix}, M=\begin{pmatrix} 2 \\ 5 \\ 2 \end{pmatrix}$

1(d)	$A = \begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix}, B = \begin{bmatrix} 2 & 1 \\ 3 & 4 \end{bmatrix}$ $AB = \begin{bmatrix} 2+6 & 1+8 \\ 6+12 & 3+16 \end{bmatrix} = \begin{bmatrix} 8 & 9 \\ 18 & 19 \end{bmatrix}$ $(AB)^T = \begin{bmatrix} 8 & 18 \\ 9 & 19 \end{bmatrix}$	2(b)	OR Given points are (2,3) & (4,6) Two-point form is $\frac{y-y_1}{x-x_1} = \frac{y_2-y_1}{x_2-x_1}$ (or) $\frac{y-3}{x-2} = \frac{3}{2}$ $2y - 6 = 3x - 6 \text{ (or) } 3x - 2y = 0$
1(d)	OR $A = \begin{bmatrix} 3 & 1 \\ 5 & 2 \end{bmatrix}$ $ A = \begin{vmatrix} 3 & 1 \\ 5 & 2 \end{vmatrix} = 6 - 5 = 1$ $ A .I = 1. \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = L.H.S$ $A.adjA = \begin{bmatrix} 3 & 1 \\ 5 & 2 \end{bmatrix} \begin{bmatrix} 2 & -1 \\ -5 & 3 \end{bmatrix}$ $= \begin{bmatrix} 6-5 & -3+3 \\ 10-10 & -5+6 \end{bmatrix}$ $= \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = R.H.S$	2(c)	Intercepts form is $\frac{x}{a} + \frac{y}{b} = 1$ Given $x - int. = 3$ & $y - int. = 2$ Then $\frac{x}{3} + \frac{y}{2} = 1$ Therefore, the equation is $2x + 3y - 6 = 0$ OR Slope of $x-y+4=0$ is $m_1 = 1$, Slope of $2x-y+5=0$ is $m_2 = 2$, Formula $\Theta = \tan^{-1} \left(\frac{m_2 - m_1}{1 + m_2 m_1} \right)$ $= \tan^{-1} \left(\frac{2 - 1}{1 + 2.1} \right) = \tan^{-1} \left(\frac{1}{3} \right)$
2(a)	Equation of line is $3x + 4y + 7 = 0$ $Slope = \frac{-a}{b} = \frac{-3}{4}$ $X - int. = \frac{-c}{a} = \frac{-7}{3}$ OR General form of straight line is $ax + by + c = 0$ One-point form is $(y - y_1) = m(x - x_1)$	2(d)	$\Theta = 45^\circ, m = \tan 45^\circ, y - int. = C = 5$ Equation of line is $y = mx + c$ i.e., $y = 1.x + 5$ or $x - y + 5 = 0$ (OR) Parallel condition is $m_1 = m_2$ Slope of $2x + y - 4 = 0$ is $m_1 = \frac{-2}{1} = -2$ Slope of $6x + 3y + 10 = 0$ is $m_2 = \frac{-6}{3} = -2$, Therefore $m_1 = m_2$
2(b)	$2x - 3y + 1 = 0$, Slope $m_1 = \frac{-a}{b} = \frac{-2}{-3} = \frac{2}{3}$, $m_2 = \frac{2}{3}$ (II) One-point form is $(y - y_1) = m(x - x_1)$ $(y - 2) = \frac{2}{3}(x - 1) \text{ \& } 2x - 3y + 4 = 0$	3(a)	$40^0 = 40 \times 1^0$ $= 40 \times \frac{\pi^c}{180} = \frac{2\pi^c}{9} = 0.6981^c \text{ and } \frac{8\pi^c}{7} = \frac{8\pi}{7} \times \frac{180^0}{\pi}$ $= (205.42)^0$ $= 205^0 42^I 51^{II}$

3(a)	OR $\tan(45^\circ - A) = \frac{\tan 45^\circ - \tan A}{1 + \tan 45^\circ \cdot \tan A}$ $= \frac{1 - \tan A}{1 + \tan A}$	3(d)	Given $\frac{\sin 6\theta + \sin 2\theta}{\cos 6\theta + \cos 2\theta} = \frac{2 \sin\left(\frac{6\theta+2\theta}{2}\right) \cos\left(\frac{6\theta-2\theta}{2}\right)}{2 \cos\left(\frac{6\theta+2\theta}{2}\right) \cos\left(\frac{6\theta-2\theta}{2}\right)}$ $= \frac{\sin 4\theta}{\cos 4\theta} = \tan 4\theta$ OR $\frac{1 - \cos 2\theta + \sin 2\theta}{1 + \cos 2\theta + \sin 2\theta}$ $= \frac{1 - (1 - 2\sin^2\theta) + 2\sin\theta\cos\theta}{1 + 2\cos^2\theta - 1 + 2\sin\theta\cos\theta} = \frac{2\sin^2\theta + 2\sin\theta\cos\theta}{2\cos^2\theta + 2\sin\theta\cos\theta}$ $= \frac{2\sin\theta(\sin\theta + \cos\theta)}{2\cos\theta(\cos\theta + \sin\theta)} = \tan\theta$
3(b)	Simplify $\frac{\sin(360^\circ + A) \tan(180^\circ + A)}{\cos(90^\circ - A) \cot((270^\circ - A))} = \frac{\sin A \cdot \tan A}{\sin A \cdot \tan A} = 1$ OR Given $\tan \theta = \frac{3}{4}$, Then hypotenuse = 5 Therefore $\sin \theta = \frac{3}{5}$, $\cos \frac{4}{5}$ $5 \sin \theta + 5 \cos \theta = 5\left(\frac{3}{5}\right) + 5\left(\frac{4}{5}\right) = 7$	4(a)	Given $y = \tan x + 4e^x - 6 + \sqrt{x}$ $\frac{dy}{dx} = \sec^2 x + 4e^x - 0 + \frac{1}{2\sqrt{x}}$ OR $\frac{d(x^2 \cdot e^x)}{dx} = x^2 e^x + e^x \cdot 2x$
3(c)	$\cos(A + B) = \cos A \cos B - \sin A \sin B$ $\cos(75^\circ) = \cos(45^\circ + 30^\circ)$ $= \cos 45^\circ \cos 30^\circ - \sin 45^\circ \sin 30^\circ$ $= \frac{1}{\sqrt{2}} \cdot \frac{\sqrt{3}}{2} - \frac{1}{\sqrt{2}} \cdot \frac{1}{2} = \frac{\sqrt{3}}{2\sqrt{2}} - \frac{1}{2\sqrt{2}} = \frac{\sqrt{3}-1}{2\sqrt{2}}$ OR Let $\frac{\sin 2A}{\sin A} - \frac{\cos 2A}{\cos A}$ $= \frac{\sin 2A \cos A - \cos 2A \sin A}{\sin A \cos A}$ $= \frac{\sin(2A - A)}{\sin A \cos A} = \frac{\sin A}{\sin A \cos A} = \frac{1}{\cos A} = \sec A$	4(b)	$y = \frac{(1 + \tan x)}{(1 - \tan x)}$ $\frac{dy}{dx} = \frac{(1 - \tan x) \sec^2 x - (1 + \tan x)(-\sec^2 x)}{(1 - \tan x)^2}$ $= \frac{\sec^2 x - \tan x \sec^2 x + \sec^2 x + \tan x \sec^2 x}{(1 - \tan x)^2} = \frac{2\sec^2 x}{(1 - \tan x)^2}$ OR $y = 2x^4 - 3x^2 - 2x^2 + x - 1$ $\frac{dy}{dx} = 8x^3 - 9x^2 - 4x + 1$ $\frac{d^2y}{dx^2} = 24x^2 - 18x - 4$, at $x = 0$, $\frac{d^2y}{dx^2} = -4$

4(c)	$S=2t^3 - t^2 + 5t - 6$ $V=\frac{ds}{dt} = 6t^2 - 2t + 5 \quad a=\frac{dv}{dt} = 12t - 2$ At t=2 , V=25 At t=2 , a=22 OR $Y = 2x^3 - 3x^2 - 36x + 10 ,$ $\frac{dy}{dx} = 6x^2 - 6x - 36 , \quad \frac{d^2y}{dx^2} = 12x - 6$ Let $x^2 - x - 6 = 0 ,$ $x^2 - 3x + 2x - 6 = 0 ,$ $(x - 3)(x + 2) = 0 , \quad x=3 \text{ or } x=-2$ Put x=3 in $\frac{d^2y}{dx^2}$ and its value is 30(+ve) Function has minimum at x=3 Put x=-2 in $\frac{d^2y}{dx^2}$ and its value is -30(-ve) Function has maximum at x=-2 Maximum value is (x=-2 in given eqn.) 54 Minimum value is (x=3 in given eqn.) -71	5(a)	$\int e^x + \frac{1}{1+x^2} - \sin x + x^3 . dx$ $= e^x + \tan^{-1} x + \cos x + \frac{x^4}{4} + C$ OR $\int x^2 (1 + x) . dx$ $= \int x^2 + x^3 . dx$ $= \frac{x^3}{3} + \frac{x^4}{4} + c$
4(d)	If $y = x^2 , \quad \frac{dy}{dx} = 2x , \quad \frac{d^2y}{dx^2} = 2$ Let $x \frac{d^2y}{dx^2} - \frac{dy}{dx}$ $x(2) - 2x = 0$ OR $y = x^2 + x - 1 ,$ One-point form is $\frac{dy}{dx} = 2x + 1 , \quad (y - y_1) = m(x - x_1)$ Slope m(at x=1)=3 $(y - y_1) = m(x - x_1)$ $(y - 1) = 3(x - 1) \text{ i.e. } 3x - y - 2 = 0$	5(b)	$\int \cos^2 x . dx = \int \frac{1 + \cos 2x}{2} . dx$ $= \frac{1}{2} \left(x + \frac{\sin 2x}{2} \right) + c$ OR $\int_0^{\frac{\pi}{4}} \tan^2 x \sec^2 x . dx$ Put $\tan x = t$ $\int_0^{\frac{\pi}{4}} t^2 . dt = \left[\frac{t^3}{3} \right] = \frac{\tan^3 x}{3} \quad \sec^2 x . dx = dt$ where limits are 0 to $\frac{\pi}{4}$ then answer is $\frac{1}{3}$

